6312 , SOLUTION , RRB NTPC

Ques 1. ANS (B) Solution:
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Ques 2. ANS (C) Solution:
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Ques 3. ANS (A) Solution:
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Ques 4. ANS (D) Solution:
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Ques 5. ANS (B) Solution:
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Ques 6. ANS (D) Solution:
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Ques 7. ANS (D) Solution:
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Ques 8. ANS (C) Solution:
Ques 9. ANS (B) Solution:

far ar e -
20+12x4+8-6=2
i fodt @ oRaRid FW W,
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=32 - x 6
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=32-3=29
9 7 =29

Ques 10. ANS (C) Solution:
72 $20=4t"a,'f’}.+2n =92 92 +2=46

1$27=14,1+27=28,28+2=14

10§44, 10+44=54.54 +2=27

Ques 11. ANS (D) Solution:
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Ques 12 ANS (D) Solutlon
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Ques 13. ANS (B) Solution:

Ty 3P & UAET Bl IR P (b) BT U GRT B
Ques 14. ANS (B) Solution:

TY NPT IR B (b) T At 31

Ques 15. ANS (A) Solution:

TY ATpid HT U Ufafshan SR 3nepfa gAH faars <ft

Ques 16. ANS (D) Solution:

Ques 17. ANS (D) Solution:

YhIT & Wm DI hH(1) passage (2) pastime (4)
pathetic (3) patience

3(d: fad T Weg] T Wea I & TR AR RIF W Pathetic
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Ques 18. ANS (D) Solution:
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Ques 19. ANS (D) Solution:
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Ques 20. ANS (A) Solution:

Ques 21. ANS (B) Solution:
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Ques 22. ANS (C) Solution:
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Ques 23. ANS (D) Solution:
T, g Td AT A & UHR g | 3(d: B o I § firg
gl

Ques 24. ANS (A) Solution:

22 5§ § 30 WAt a% He BT = (31 - 22) + 30 + 31

+ 31 + 30 + 30 = 161
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Ques 25. ANS (B) Solution:
[ FIE!

<D

g Raffdl & a6 ot Renffat 9 gear = 60
B 99 I Reaifar @ der = 40

A B 9 AR g Rl & e
=35+25+15=75

=100-75=25

Ques 26. ANS (C) Solution:

s Be 09 o g ikt @ e 43 frs
X 7 fviferr & -

A=%8 7 97 I Akl B FAT =5

B = 3qq ArT 99 A @fkdl @ der = 18
C =39a It 67 I Tl 3 qer=8

D = #rT S el 3N 4R e afdl A den
= {43 - (A+B+C)} = 12

[ @

1.3 99 arelt @ Fa dedr = 18+ 12=30
2. ¥ft §i7 aral B Fa wer =8+ 12=20

Ques 27. ANS (D) Solution:
Look at the following pattern:
3%+3=27+3=30
55+3=125+3=128
82+3=512+3=515
9 +3=729+3=732

3fd: 9:731 QAT Bl
Ques 28. ANS (D) Solution:
ﬁm%w B (A): U veh gt & Fed 7 &t 7 ume
ST B
faaror: Bfig veht gedt & TR 68 & ® g o €, st faan
T Y Ted gl
e T ads (R): T & & ufdrl & U T N B
faaRoT, SRITd 0 Te! To1 7| T &= # X5 arel uferdl & o
2 dd B
37c: A TUT R S 39 B
Assertion (A): Penguin birds are found in the hottest regions
of the Earth.
Description: Penguin birds are found in the coldest regions of
the Earth, ie the given statement is incorrect.
Argument given (R): Birds in hot areas have no wings.
Description: The above argument is not correct. Birds living in
warm areas may have feathers.
Hence both A and R are untrue.
Ques 29. ANS (A) Solution:
RU M AE H ST TP f1a I3 31&R a1 &, ot Sf¥oit qufwren &
ST fiT SfaRl B e F A 71 AT Y Wes H a1t Sfari
& S I 3eR el 3, o o qufaren & 3% o 71 3fere
31&RT BT AT 15
There are no letters between S and T in the given word,
which is the same as the number of letters between them in
the English alphabet. The given word does not have as many
letters between the rest of the letters as there are between
them in the alphabet. Hence the number of letters is 2.
Ques 30. ANS (B) Solution:
195 % o W 3 9T 59 US! B Gl THBI0 1 &
0120(HR B FE 1R AR A HI T 4 )
01:55( B BT FS 2 W IR AT HIJE 11 W)
02:25(BC BT YE 2 R R e HIFE 5 W)
03:00( 4 B FE 3R AR A I FE 12 W)
0330(H B FE 3 W AR A HI T 6 )
04:05(HC B FE 4R AR A HIFT 1)
04:40(BC BT FE 5 W 3R e H1 YT 8 W)
3fyfd, AP0 91 & forg ©e SR e #Y g o 3 Ul &
3feR BT =MMRT-
The time between 1 to 5 when the clock needles form a right
angle:




01:20 (hourly needle 1 and minute needle 4)

01:55 (hourly needle 2 and minute needle 11)

02:25 (hourly needle 2 and minute needle 5)

03:00 (hourly needle 3 and minute needle 12)

03:30 (hourly needle 3 and minute needle 6)

04:05 (hourly needle 4 and minute needle 1)

04:40 (hourly needle at 5 and minute needle at 8)

That is, to make a right angle, there should be a difference of
3 units in the hour and minute needle.

Ques 31. ANS (B) Solution:

The Padma or Podda (Bengali: W Pdda) is a major river in
Bangladesh and India (downstream of Giria). It is the main
distributary of the Ganges, flowing generally southeast for
120 kilometres (75 mi) to its confluence with the Meghna
River near the Bay of Bengal

Ques 32. ANS (D) Solution:

It was the first garden-tomb on the Indian subcontinent, and
is located in Nizamuddin East, Delhi, India, close to the Dina-
panah Citadel, also known as Purana Qila (Old Fort), that
Humayun found in 1533

Ques 33. ANS (A) Solution:

Aam Aadmi Party is an Indian political party, formally
launched on 26 November 2012, and is currently the ruling
party of the National Capital Territory of Delhi.

Ques 34. ANS (C) Solution:

This law was passed by Parliament on 15 June 2005 and
came fully into force on 12 October 2005. Every day, over
4800 RTI applications are filed. In the first ten years of the
commencement of the act over 17,500,000 applications had
been filed. RTl is a legal right for every citizen of India.

Ques 35. ANS (B) Solution:

fSBR & refer ford & =refer Herfder' & uRER & HiaR
yfmfor nfafafiat & SRM, YR qRIaa Tden ([TusE) 3
3 1200 T R qY KT DI TS BT | T TP el DI
TR ¢ SN 5 & THI I HT Ui &

During landscaping activities within the premises of 'Nalanda
Mahavihara' in Bihar's Nalanda district, the Archaeological
Survey of India (ASI) discovered two 1200-year-old miniature
stupas. The stupa is a hemispherical structure that symbolizes
the tomb of the Buddha.

Ques 36. ANS (C) Solution:

Forg gt I SR e 3 7t ot MR Rig 3 718
faeell & U THRIE # iR Siciiay Hdeun (THUTs) 2022-23
BT Igure foar, forH 39% Uidd 3R Hiarsd Ui &1
IURY ot =nferet Tl

Union Minister for Rural Development and Panchayati Raj
Shri Giriraj Singh inaugurated the Mission Antyodaya
Survekshan (MAS) 2022-23 at a function in New Delhi, which
also included the launch of its portal and mobile application.
Ques 37. ANS (C) Solution:

Tl srepTet = o @t & &5 2023 & forg witar HenfAfy
REDR S a4t Dl UGH fosar Se| dive sragh Te uar 8t
RIHR faoidT 3R URig drfed MiidT & & & A St 1
Tg Prifced Gifid b & § Yl REBR HH S 8 | T8
QREHR AE I SHTGH! §RT UGH fban S 3|

The Sangeet Akademi has announced that the Sangeetha
Kalanidhi Award for 2023 will be presented to Bombay
Jayashree. Bombay Jayasree is considered as a Padma Shri
awardee and renowned Carnatic singer. It is considered the

highest award in the field of Carnatic music. The award is
presented by the Madras Music Academy.

Ques 38. ANS (C) Solution:

et fibfere o efideise Uo S9 sy, awie, ofk 54
faq SiR Uit & ol g & Jecra-a UiaffEl § 3 T
7| fag & T 98 Y9 W 3 -Riae wF a1 safd, 37
AR TR "HISshIaTAreliol & U & =0 & S a1 8, 3R
AR I UGl Wipd HIIhRepIRE 3R e sitg fasr A
ST | 37 AR AIesh et & & 7 s syt 1 o
I o & U # YA Sia fage & RiIee & v 37
ANTE % oY Ted ort R § 9 9 B

Ques 39. ANS (D) Solution:

AT & SIER, [SH g1 H 78.09% TICISH 20.95% SfTadTor,
0.93% 31T, 0.04% HTa STE3HES, 3R 3= TG BT YIS
AT gt 81 arg B aTex ar &t U uRad-rg A ot gt €,
ST TS I TR TIHT 1% 3R T aTTaR0r & 0.4% |

Ques 40. ANS (A) Solution:

ST T U 8139 79 T8 5

Ques 41. ANS (B) Solution:

TETEIUT 95T Rigid & SrguR, 9t AeTeiul 3 U IHE TP
HETEUTY oI 1 6 foba |

Ques 42. ANS (B) Solution:

TR U5 H, TY R Yob & U Bl UTHTdd SUUE a1 o
gt § U 81 UIhfad SUUE &, o I5H1 3 18 | ST SIrel
89 3R Ha § &l B Wi IUUE, BlEN 3R S g
Ques 43. ANS (C) Solution:

TI® B a1 MBI B! arerq 18 § S sRard &
AR & SR e Tk & Wt 3R Fers & ot 8§, S 5
3 RydeR da T 3|

Ques 44. ANS (A) Solution:

T SaoIfere] SIRTT BT 1643 H SRIHICY BT STHR A
& forg it v & 9 foan S 8, Wt awaw #
SaTerd! TR SR EdaE, TORY 9, 7 1640 3R 1643 F
g urt SRR 1 o e 31

Ques 45. ANS (D) Solution:

3MmfrsT UTuft SHTT T oY 981 99 § O Bis wiEd B
Ques 46. ANS (D) Solution:

TSue, TRRMAAN, 7 3Hd MRS SHib & q1G SHTAT
AAfSRT SRR (MD) 3R =it Tashiagfed SHifheR (CEO) &
=Y H3fd Sl bl AP fbaTe | U BT BIURT WrgfeiTTes
YR, S0l Bt HRIBIA MD 3R CEO & ¥ H 1 310id, 2023
Y = B,

CEAT, the tire maker, has named Arnab Banerjee as its new
Managing Director (MD) and Chief Executive Officer (CEQ)
following the resignation of Anant Goenka. According to the
company's corporate filing, Banerjee's tenure as MD and CEO
will begin on April 1, 2023.

Ques 47. ANS (B) Solution:

The Rajiv Gandhi Khel Ratna, officially known as Rajiv Gandhi
Khel Ratna Award in Sports and Games, is the highest
sporting honour of the Republic of India. The award is named
after Rajiv Gandhi, former Prime Minister of India who served
the office from 1984 to 1989

Ques 48. ANS (B) Solution:

Anand Math is a 1952 Indian bollywood historical patriotic
film directed by Hemen Gupta, based on the famous Bengali
novel Anandamath, written by Bankim Chandra Chatterjee in
1882

Ques 49. ANS (A) Solution:




The first Governor of Bengal and first Governor-General Of
India was Warren Hastings with tenure of office from 1772-
1785. Warren Hastings was an English statesman, the head of
the Supreme Council of Bengal. He brought an end to the
Dual Government system by enforcing the Regulating Act of
1773

T & Ugd TaR IR HRA & Ugal Ta-R-07Rd IR glet™
3, fSFpT SIS 1772-1785 % UTI IR SR Th 3ieh
RTSHT T, ST ST 1 Fated URee BT T Tl 36 1773 F
GATT T DT AN P Q-1 TRDHR YUITe! bl FHTG B
faam

Ydiq

Ques 50. ANS (C) Solution:

Maharashtra is a state in the western peninsular region of
India occupying a substantial portion of the Deccan Plateau.
It is the second-most populous state and third-largest state
by area . Maharashtra is created as a Marathi speaking State.
... Formation, 1 May 1960 (Maharashtra Day). Capitals,
Mumbai Nagpur (Winter).

Ques 51. ANS (C) Solution:

Ganesh Vasudev Mavalankar (27 November 1888 - 27
February 1956) popularly known as Dadasaheb was an
independence activist, the President (from 1946 to 1947) of
the Central Legislative Assembly, then Speaker of the
Constituent Assembly of India, and later the first Speaker of
the Lok Sabha

Ques 52. ANS (C) Solution:

Loktak Lake is the largest freshwater lake in Northeast India
and is famous for the phumdis (heterogeneous mass of
vegetation, soil and organic matter at various stages of
decomposition) floating over it. The lake is located at
Moirang in Manipur state, India

Ques 53. ANS (C) Solution:

An international day to celebrate freshwater was
recommended at the 1992 United Nations Conference on
Environment and Development (UNCED) in Rio de Janeiro.
The United Nations General Assembly responded by
designating 22 March 1993 as the first World Water Day.
Ques 54. ANS (A) Solution:

TS 9w ¥ 28 fohrt IwR-ufy & UR Ueiet 36 & SHl IR Ryd
B, 3R 3 Riey w1t a1 R0 Wa1 H1 IR AT AT STl B
=9 Ry 91t Tt o) ITRAH S8 AT STl g |

Ques 55. ANS (C) Solution:

[ - I5-21F SedfiIY (1236 T % § 59 81 1) Fe g
s Goa™ ATl T 3T IS aeR ¥ ek o
RIFIART B &l At | Segafi= = I @H ST SAER | 1221
TSt H Hliel gHA <l b foram T

Ques 56. ANS (B) Solution:

"3l BT SR Aer, I8 WH SME W b 16 4

T AT TS BT RITTHT 1 SR 31T 3 &= & farg
@R faars s & g SiR 3ifie ST e 31

Ques 57. ANS (D) Solution:

T TSI YT YRA & oF 4o & 3R § o T T
A JE A1 $78 U Ha} gl oIl 5| A HRA g1
FHIUT | TRA &d & ot THE Ad13fl Ad-a19-u1d § J T |
Ques 58. ANS (B) Solution:

T o1 fordt 3 ARl & TRY IR URepHT B3 aTet W fus!
B T FEd & | RIFT Wity 9 F SUR gaR Hed |
313 T ©- Y, b, G4, T, Fgeufd, X, &y SR Ao |

% SHfeRad oiF a1 T 81 Gt A Jgclt g8l & STAR I,
T, Y, YN A HE B

Ques 59. ANS (A) Solution:

AL X1 T Dictd @1 & Sl Ged! 1 gd J Ui o1 efiR al
SRISR T B giech §1 ST YT 1 I Thianef ok g feror um
! aferoft Mend w1 ST 81 38 fayad e H ved 1 fayad
G TR A 3R A B 3fafd T T THHE el & |

Ques 60. ANS (B) Solution:

Aee g1y YR H Ty 93 iel 7 9 Ue ¢ 3R aftyarg o fRud
HTA et B Yo TS1 §1Y § ST6T I8 et STt § Fas vl
21 Sty Y Befed A R 30 oot a1a) &, bl afer 3R
FHI IS YR S § Farg e |1

Ques 61. ANS (C) Solution:

UTich T R SHTcichaTcl 3fegel TGHT Hab! bl YGerd XY
RN URYE (UNSC) GRT Afeh SMdebare! & w0 # Jelias
e 71 B 1 U et <F GRT Haeb! b1 SMTcddhard] & ¥ H
TG TR & TRad R Y A g & 918 3T g
Pakistan-based terrorist Abdul Rehman Makki has been listed
as a global terrorist by the United Nations Security Council
(UNSC). The decision comes after China lifted a hold on its
proposal to list Makki as a terrorist.

Ques 62. ANS (C) Solution:

SORIZA P QHarat = 7 ARG BT a1 T 3R IR S
H gYR & forg Rafthar Asiie di= fban|

Israeli researchers launched sniffing robot to detect diseases
and improve security checks.

Ques 63. ANS (B) Solution:

The foundation day of the Reserve Bank of India was
observed on 1 April. The Reserve Bank of India was
established on 1 April 1935 as per the provisions of the
Reserve Bank of India Act, 1934. Initially the central office of
the Reserve Bank was established in Kolkata but in 1937 it
was permanently transferred to Mumbai. The central office is
the place where the governor sits and where policies are
formulated. Since nationalization in 1949, the Reserve Bank is
fully owned by the Government of India.

1 370 B YR ReTd S T RITYAT f3as HHm 17| HRelTd
feord S Sififgw, 1934 & UG} & STER 1 30d 1935 H
HRTg Reid S B 1o g8 1 s & Rord S o1 befla
HRC HiadbIdT H R far T/ o Afes 1937 & vl w4
T 30 4as H gxaiaid B a1 T o1l FHii wrafag 98 ®H
8, 81 a7 93T § a1 gt Afifeal daR &1 St &1 1949 7
rr%mm%am@rﬁﬁ%qﬁw@rww%wﬁa
e

Ques 64. ANS (B) Solution:

TYHAT TR A (PM Narendra Modi) = 3R UGRT & TGS,
A gut eied gy Tfte &1 Igured ax fear 71 Rarw qu
F IR SR AT STRGeR Gaher Siar off ST uew
Wed 3oy gfie 2023 # e gUl

Prime Minister Narendra Modi has inaugurated the UP
Global Investors Summit in Lucknow, Uttar Pradesh. Reliance
Group Chairman and Managing Director Mukesh Ambani
also attended the Uttar Pradesh Global Investors Summit
2023.

Ques 65. ANS (C) Solution:

B1e &1 7 oIRT srgeius & ufque Ju siavarge e
YR 558 RIF TR 31 T 81 AT lsifEes aferdzm
=M (ICVM) T URA H 9 ¥ 16 TdeR 2022 TF JHaud T
SlaRurse S I (USOAP) & dgd aR] fasar T |




India has moved up to 55th position in the recently released
ICAQ's Aviation Safety Oversight Ranking. The ICAO
Coordinated Validation Mission (ICVM) was implemented in
India from 9 to 16 November 2022 under the Universal
Safety Oversight Audit Program (USOAP).

Ques 66. ANS (C) Solution:

g & T A gew Prafiad ¥

(1) SeBTTIACIY T SHTS 3 SPTS b <l TGS ¢ b0
S[THTT 3R T SFTURT

2) T SPTS T7 ISR 39 IBTE BT BIY (o, 37 3R
Hegac TRUmH B R HAT 3

(3) 0T STS T8 SHTS SR & Tt YT & TaTeH o
FRifa Pl 81 Afh 313 1ft IRafa STeT TR SioR=H
TR

Ques 67. ANS (A) Solution:

ot U1 Tad H1 UfeRlY IR B avaTs & T TS §

& AR & SR EABA P HSHHARIUTH Il & |
l.e

Ri
A

Ques 68. ANS (A) Solution:

IR $IX B TS 3fadd gUUl BT IudiT fan S & i a8
3fd fvuT ¥ U foig a3 areht Uhr=r farunt &t uikafed
HRAT ¢ Al UISH &I Ibr SH & forg foig R vafe siftres
THf I BT o b |

Ques 69. ANS (D) Solution:

Tad § IUTRY ST a1 Wede &1 Udh Agayul R TRR A
IJUFRIT G 3R UIEH I HRIT & | I YA BT THaH
TR 3! R A Hrare T ga Ferar 3 fored fiaas
formay] U 3reurg feaR o1 FAmior R § 37K e 4 Bl 3R
31fe &ffdy B9 ¥ Apal 1 IR H Saxaena I o
fIaTy] 819 U BT YaehT STHT Y 71 offal § o fda &
R BT STRAPT 9 ST ¢ | foramupeht ot e & FHHt & HROT
TGAAG DT 3MTRIHT &G STl g |

Ques 70. ANS (C) Solution:

IS b SH WIEIMT T8 WRIUY 3 g o HTh fsar &
Y TRIER} &1 § Fifds 150 THS FHY frar g &I fram
e IS & ded B & e Wil fredt 7|
Chennai-based drone startup Garuda Aerospace has
partnered with Union Bank of India as 150 Garuda Krishi
Kisan drones have been approved for loans under the Kisan
Pushpak scheme.

Ques 71. ANS (B) Solution:

\%\

N L=15:6=5:2
Ques 72. ANS (D) Solution:

T B} o :(lﬂxlzx%)+[15x12xgj

3
20x12x—
+( ) x4)

= 60 + 120 + 180 = 360
Ques 73. ANS (C) Solution:

(s+2}3—53+8+3[ 22 +3.(s) x (2)2
=3+ 8+ 6s% + 125

Ques 74. ANS (B) Solution:

2%<sh=3oaa

C.P. =300 %o
S.P. =30 x 15 = 450 %o
150
% MY = ﬁo—x 100 = 50%
Ques 75. ANS (C) Solution:
2000 x 100
P= 71‘6—' = 10000 %o
10
Cl =10000[(1+m) —1:\
21
= 10000 x 100 ™ 2100 %o
s = Cl -S.L

= 2100 -2000 = 100 %o
Ques 76. ANS (B) Solution:
tan (-405°) = —tan (360 + 45°)

=-tan45° = -1

Ques 77. ANS (A) Solution:
T §STUMES = HCF (360, 450) = 90
Ques 78. ANS (D) Solution:
2 = % 1 C.P =480 %o

2%H T % SP = %)-lel = 600 %o

120
= ——=x100% =2
% 9 480 X 5%
Ques 79. ANS (D) Solution:

6000x3xr 8000x5xr
100 = 5220

= r [18000 + 40000) = 522000
522000
58000

=9%

r=

Ques 80. ANS (D) Solution:
In A ABE

tan 90
In A CED

tan 90

(i) &f(ii)

18 b
x x-10
= 18x-180 = 6bx
= 12x = 180
180 o
Bkt g 1 -
e 12

x=10 = 15-10 = 5 ®I
98 Fi qEE F de = 5 Wi
Ques 81. ANS (A) Solution:
A B
g > 1:2
90

A# Tfd = 7—45km/h

B #t wfa = 45%2 = 90 km/h
Ques 82. ANS (B) Solution:




2| 280 2| 144
2| 140 21 72
2| _70 2| 36
5 35 2] 18
7 39
3
280=Qx@x@ x5x7
144=Qx@x@ x2x3x3
Ho o=2x2x2=8
3d: Ho Yo =

Ques 83. ANS (D) Solution:
1 1
v = 5 ( + ] =5 x— 5 = g qnT

10 15 30
Ques 84. ANS (C) Solution:
60
X = 3= 20 fodito

3d: &a 3 = 20 fRodio
Ques 85. ANS (C) Solution:
3 4 8 9 15 16
1 2 4
S e N
& Optlon (C)
Ques 86. ANS (D) Solution:
11) 1739 (159
1
63
55
89
%9
-10
3@: Set WA aret Ho = 10
Ques 87. ANS (C) Solution:

(2x3)= 178
5= 65 (arTea)

Ques 88. ANS (B) Solution:
i 7 = (7&%}15 =300m

Ques 89. ANS (C) Solution:

2 +17x +72=0
= x2 +9% +8x +72=0

= (x +9)(x +8) =
x=-9,
Ques 90. ANS (C) Solution:
8x7

=14

4:8::7:x .. x= 2
Ques 91. ANS (A) Solution:
9x50=15x%xx
x =30
Ques 92. ANS (B) Solution:
2
i F G = (-i—

- 1_3*/_§%£5£2.= 169 = Ffre

Ques 93. ANS (C) Solution:

| >

S

O_SINR’
cosf cos _W
IMER L F0 =5
@ = /(7h)? - (amam)?
= J62-@? = J25-16 = 5 =3

5

4
+

14

ot
ER
Ques 94. ANS (B) Solution:
[ ] d
oarly, we haye [-_"L.11_v_"’.*_91_1_u_+13+a;19+1-;.. 21 4 14 +_=\] - 15

or 137 N 12
Mt O X= 144 - 18T = 7

secH + cosecH =

|
L%

+
wlwm

I
=W
S| &

Ques 95. ANS (D) Solution:
(xp¥)=(0,=5) T (x,, y,)=(x,0), d= 13 &
R R (x,y) T (x, y) FAT R GH A A A-

d_J(x, %)% +(3 - y,)?

2 13=(0-x)2 +(-5-0) =yx2+25

A vl A WA W, 169 = x2 +25

nx? =169-25=144=12% = x =412

Ques 96. ANS (D) Solution:

Let the ages of Jayant, Prem and Saransh 10 years ago be 2x,
3x and 4x years respectively.

Then,(2x+10) + (3x+10) + (4x+10) = 93

9% =63

x=17.

Saransh's present age = (4x + 10) = 38 years
Ques 97. ANS (B) Solution:

(1070 + oe = 9977 (30)150-149 = 10* = 10000.
" ao™

Ques 98. ANS (B) Solution:
A T i YAF Yo = o, 7, Sw = o

¥ S ey =04 _11a
™ < 100 10 °

LRt R — =(l—lloﬁ"”a)=12102.
10

. 1214° 2142
A% o = -a® e
&= 007 100 °

2
&Fe § gfe %=(le0‘(’) x%x]OO]%: 21%.
a

Ques 99. ANS (A) Solution:
it 99 FI firoun = 7 Gte.

79 g9 &I A6 = 7R’ =[-273x7x7) a1t Ao,
= 154 & |t
D L C

o
f— 14 |sito —

A B
Ques 100. ANS (C) Solution:




